TR 1 FEEARBIRATT ISR AR 2 KR O BRI

[£H % DRE]
R4 TR A SHEANE | REHEER | SREER

W W W E 3 6 3
HEVE - #il MR AR KA 1 0 0
i A b g TR 2 7 2
Ny STy L h 5 :
AN NTE) BYFE 2 4 2
ANV - BRI | S AEPERL 2 0 0
Be] i Betnd o byaT AR 1 3 1
A Lo By 2 0 0
R 10 4 3
W fHme Y A8 3 0 0
BB R 1 1 1
-~ é%ﬁﬁﬁﬂ 3 3 3
Lo 2F 1 2 1
Ba] W iE 4 5 4
Ba] 35z v W E R 1 1 1
s 2 1 1
2HE B 1 0 0
e 3 2 0
M - =4f R E IR 2 1 1
= i) 45 46 24

[FE &l D ERTE]

R4 TR A SHEBE | REHEER | SRER

S e B 13 0 0
Ny STy TR 3 1 p
W m R R 5 6 6
T I WE R (R %) 8 7 6
s FF (D) 11 1 2
& it 3R W E 9 1 1
nEs Lo By 12 6 5
4V W E 4 1 0
. H EaEE 6 0 0
= ) 81 26 24




